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Objd: Find the domain of o nobomall Lounchion.
Pro enn:
Stepd: Sat demominddon = O and nolle fon .
Step2: Domain = et of alll neall murbenn exiaph fon
Hhe valusr you Juund i Step .
Eg Find the domein of eadh nabiomel Lunchon
@ {6 = ";'Zg ®a =

-5 x*-25
O S(x) = X3 @w(x) - x+&
Ll X rbx-21 x* +25
So 0k
@ Sat x-5=0 5 x=5. (SG}JM:O a.-JAon.)
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Domain = {x‘ x & 5‘}

on i intenedl wohbow: 2 N =z
Domain = (—as,8) U(5,00)

D Sd ¥*-25 .0 — =25

— x= *Y26 =5

Domuin = i,\ x#5;, x¢-5]
on i wlenvell netkon: T2 :-):( )i

vi

Dormun = (=s0,-5) U (-5,5) U(5,0)
© S X +4x-24 =0
(x+3)Xx-3) =0
x+3 =0 , x=-3=0
x =-7F x =3
D= §x]ns -7, 43}
on D= (- U(-3,3) V(3.2)
) Sat x'+25 =0 —s x*= -25
x = 2\-28 — x = %i-§
(imz;mnam..im)
So, the domain s the ndt of 0l neal niumbana
D= (-0, )
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Tuesday, Novembe

Fud venheal nnamf‘\'b“'u g£ Rohonoll Fivuchina

Obl 2.
Eg L= _x+3F
—%_ £ X +4x-21

S+Et 1. Faden ‘\'br ond botHom Lomrgn}laa
ag(u) = M‘

(29 (x-3)
g{'ﬂ?: Gmu.ﬂ the common ;_e:.u"m(n) f.:e ang

_‘ 1 3
- -3 x
Step 3. Sab ——— of [ miplifid axpramion

x-3 =0 — x=3,

TLL Vn.n}la-.Q Mamf"'b*l w x=3.

2\ nup.l.n\l.n )(:3 L«.A*
L L L
verheall Lina .

S Vuﬂvn.q Mavnr"'b'\l x=3

Hu'\'ct gaj &u. (Mum £N.LA =0 '\b Aonc. %\'tp\n.

X—(_eonJ;vm}t 1£‘|’L f..ﬂ.m’duwl
Caunu.Q-lLA £a.l.+‘"'\ x++ = O = x=-F
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Tuesday, November 5, 2019 10:17 AM
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(x-w-x‘ = -:l-)

i_:_._%_. Fmr) ‘\‘P'-o. vc.n"'mQ Mamf{‘ﬁc-(h) LX ama a;(, the
funbion.
- X ) - x*-25
© 20 = ® §(>= =2

Xy
@&(1\ = x-5 @ £(x) = xl
x?! - 25 x*+x -6
Se V. A,
a X) = x . S R = — = -
) 20 — o x+4:20 —|x=-4
®£(*3= (x<8)(x+5) (Fu}m)
»<65
x+5 (Cg...uﬂ)
i

St L =0 (Mo nelikicw)
C.o-uQum{.on: HO V- A.
@ £(x§ = x-5 - Vf (Fad'bn)

3 —25  (3=8)(x+5)
- (eomal)

x4t g
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